(2 ¥2 Hours)

N.B: (1) All questions are compulsory.

(2) Figures to the right indicate marks. Q :
(3) Illustrations, in in-depth answers and diagrams will be ﬁEpI’Gblated,

(4) Mixing of sub -questions is not allowed. LA YS

Ql. Attempt the following (any THREE),' ,,x /

(A) Explain Armstrong’s Axioms. Apply 11'0(1 the relanon‘Rkw;ﬂLR BG]QEGH
with FD F*= {AB —» C, AC - B, AD»—)E B—;ﬁlB—yG} ,
(B) Briefly explain example of losdy de o'mpbs;ltloll, Afso< Qeﬁrie,l,ogglgss’j‘pi}i
Decomposition. i “ O NPy G £,
(C) Write a'short note on Fourthxngn'n’allf AT L
(D) What is D stands in ACID), propeﬁy ~What 1s 1mpoftanée of D? EXpIam Mﬁi
example how D is achigved?:' o’ R : &
(E) Define serial schedule'and’ S’ex;xallzable schedule. State xh'
cause due to mterleaved exéeution.” © (.
(F) What is precedenc gl:aplﬂ EXplam ho< »
any schedule S,.C '

Q2. Attempt the {6ilbwing(any/THREE)l % J (15)

(A) State and explam rules of S‘tnct Twcr-P 1ase chking protoCol
(B) Writea'short note on: The Thotnas, Wnte Rule.
© Wha*t is deadlocls;? Bueﬂy explam deadlock preventxoﬁ meehamsm
(D) List entries of 1 transactlon and dirty page iable along with instance of log file.
_ Wlmn withs sultab[e examplex %
(B),: ‘What s’ erte\ahead I6g, pretocol? ,Explam m bnef
)y u"xﬂm detanl Analy51é phase in détaj] vhth suitable example.

(1)

3 t-»

3 -W rite: aShdrtPGte on package SpeCIﬁcatlon

wy R BGVC Op a Slmple p Akage tO"dlsplay details of a specified employee Id from
\‘atecthe mfferexice b

@) Bt etWeen Statlc and dynamic SQL. State advantages of

S’tatm‘”SQI/OVer a dynamlc SQL.

“anesa shon note Qn1 DBMS SQL Package. .
ﬁappllcatlons where dynamic queries are necessary.

15

State 8;‘ ex 19m w1th example the applications of triggers.
Des::nbe us¢ of indexing in DBMS. What are its advantages.
% & (C) Write'a: sflort note on Tree-based Indexing.

(D) Write afshort note on Instead of Trigger.
'Gbmpare between statement-level and Row-level Trigger.

By, Bx {ain with example clustered index organization.
."USIng Range Query.
* “For Equality.
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Q5.

(A)
(B)
(©)
D)

(E)

¥

Attempt the following (any THREE):

rt note on Conflict serializability.

Write a sho

Write a short note on fifth normal form, AL g o .
Explain in brief upgrading and down grading locks, VN T et S s L0
What is check point? What does checkpont do? State | e importinee of N
checkpoint. o BT e s N
Write a syntax for creating roapot o g Pl g b ";’o;””"?’ Rontar i
-Simple index. R s el LY : :ffﬁ Vo o o
-Unique index. S A oD woFgi ol N
Y A o o JARTA | e 8 \ o

-Function base index. R R E T A RS U s P S
What is Trigger? Differentiate between disabling triggor and removifig trigger.
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